| (GUTZOLD)

EISENBAHNMODELLBAU

GUTZOLD KG
Marienthaler Strafie 7

08060 Zwickau

Tel. Kundendienst:0375/58959-15
Tel.Verkauf: 0375/58959-13
Fax: 0375/25007

Ersatzteilliste 27402 (BR 86 DR, Ep. V)« s
Ersatzteilliste 27802 (BR 86 DRG, Ep. II)zcc

qth \:0\\‘3{m oins Yo ¥

Pos. |Bestell-
Nr. |[Nr.

Ersatzteil-
bezeichnung

Pr.
Gr.

I | 5060100137 Gehduse——

Art.Nr. 27402

5

406010003 {Gehause

Art.Nr. 27802

011113601

Sritze

139151514

Schraube M 2x14

011095002

Puffer flach

011095003

Puffer gewolbt

006130006 Motor-komplett

005082504

Motageplatte

G:}EIJNNO\G’

139154001

Mutter M 2

011077002

Mutterhalter

139151508

Schraube M 2x8

005022502

Motorhalter

015105901

Lampenplatte

005079001

Vorbau

— Ol RIN

—

013050502

Zylinder links

013050002

Zylinder rechts

faVaVdataYaVaVard
VAV AS AT AT

E\:\n

YAV

Cale ol
Tanmvers

-

005047009

Radsatz

X |\

005047011

Radsatz mut
Haftretfen

005047012

Radsatz

-005045005-

|Vorlaufer———

005045501 |Nachlaufer |

107119101

Vorltduferfeder

043033504

Bodenplatte

139164501

Unterlegscheibe

139151506

Schraube M 2x6

051062501

Gegenkurbel

051063501

Kurbelbolzen

29 | 041053001

Gleitbahnhalter
links

041052501

Gleitbahnhalter
rechts

31 | 005050106

Steuerung komplett

018041301

Haftreifen

118028003

Gewicht

6/95




